15—11 BEHREGET) ERELERER

=3 R % B |(BPEEGD| “HEEG EREETH R ® F | S 1T &

OB 27 & 4 - 2 1 - 1
28 1 - 1 - - -
29 1 - : - - 1
30 1 - - 1 - -
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T R274 34 4 4 4 3 8 0 3 1 0 2 1 4
28 36 1 3 4 3 6 3 1 3 5 1 4 2
29 37 0 3 4 1 2 1 4 7 2 5 3 5
30 22 4 1 1 1 1 3 2 0 2 2 1 4
FHTE 26 4 2 4 2 1 1 3 0 4 0 0 5
2 37 5 4 5 1 3 0 2 4 4 2 2 5
3 37 5 5 2 6 3 3 4 1 0 5 1 2
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FRR274 34 4 2 9 10 6 3 0
28 36 3 3 7 5 5 12 1
29 37 10 1 7 9 5 5 0
30 22 1 2 5 8 2 3 1
FHTE 26 3 4 5 4 3 6 1
2 37 4 2 5 12 8 6 0
3 37 2 2 8 9 11 5 0
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